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I.  다음 빈 칸에 들어갈 가장 적당한 표현을 고르시오. (1-7)

1. I had to make        the life raft in order to 
avoid drowning.
① off ② down
③ for ④ in

2. Copyrights may prevent people      engaging the 
reserves of existing ideas, images, and codes. 
① in ② of
③ by ④ from

3. The absolute secrecy          information about 
the remarkable British effort to break the German 
codes had evidently been at least partially lifted.
① surrounded ② have surrounded 
③ surrounding ④ is surrounded

4. Last year there        a number of events 
bringing Turing’s importance to the attention of 
the public. 
① were ② has been
③ was ④ have been

5. The very special character of the theory is seen   
     more vividly when comparing it with the 
contemporaneous attempts to analyze directly the 
effective calculability of number theoretic 
functions.
① very ② while
③ the ④ even

6. The cowboy will rein     the bull and calm it 
down. 
① at ② in
③ with ④ for

7. Ibrahim Said is a prominent Egyptian Protestant 
scholar        in the twentieth century produced 
able commentaries in Arabic on Luke and John. 
① when ② while
③ what ④ who

Ⅱ.  다음 밑줄 친 부분 중 가장 어색한 표현을 고르시오. 
(8-14)

8. Einstein’s realization ① that the geometry of the 
universe is non-Euclidean played ② the important 
role ③ in his development ④ of relativity theory. 

9. Epidemiology ① is traditionally defined ② for the 
study of the distribution and determinants ③ of 
disease and other health states in human 
populations for the purpose of ④ improving the 
health of those populations.       

10. It is ① satisfied to find that this book ② has 
been sufficiently successful for a new edition to 
be ③ called for, ④ not many years after its 
original publication.      

11. Also ① on my desk is a blue cardboard folder    
② contained with papers, ③ most of which, by the 
way, I ought already to ④ have read, but have 
not.    

12. The notion of sets ① enable us to express the 
problem ② with similarity differently; or, 
perhaps, to give ③ expression to different 
problems ④ about it.  

13. There is ① no trouble ② working out what 
impression the idea of contiguity ③ arises: it is 
the impression of things ④ touching.     

14. Mill’s notion ① of the whole cause preserves  
invariable succession ② on the price of          
③ sacrificing the distinction between cause ④ and 
coincidence. 
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Ⅲ.  다음 밑줄 친 부분의 의미와 가장 가까운 표현을 고르시오. 
(15-21)

15. For many of us childhood books are sacred 
objects. 

① untouchable ② absolvable
③ vulnerable ④ crucible

16. In that world of imagination, we can escape the 
drab realities of everyday life. 
① damp ② imaginative
③ fierce ④ colorless

17. Little Red Riding Hood outwits the wolf in some 
versions of her story.
① tricks ② disregards
③ helps ④ admires

18. Disseminated across a wide variety of media, 
fairy tales have become a vital part of our 
cultural capital.
① recognized ② spread
③ accumulated ④ enjoyed

19. The views that the red color psychoanalytically 
implies something have been rebutted by 
folklorists and historians.
① inferred ② parodied
③ accosted ④ repudiated

20. It may be for those reasons that highbrow 
reviewers (mostly men) have patronized her 
work and academic critics have chosen to 
ignore it.
① sponsored ② enthralled
③ mesmerized ④ captivated

21. In its depiction of horror, du Maurier’s short 
story “The Birds” far surpasses Alfred 
Hitchcock’s popular film adaptation with its 
intrusively added love story.
① describes ② identifies
③ exceeds ④ neglects

Ⅳ. 다음 글을 읽고 물음에 답하시오. (22-30)

  (22-24)

22. Which of the following is least likely to be 
inferred from the above passage? 
① Fairy tales may have simply strengthened 

what was already in Bloom’s personality. 
② Even a fairy tale can give its readers 

painful and twisted emotion. 
③ In her real life, Bloom imitated the life of 

tragic heroines in fairy tales.
④ A person reading fairy tales does not need 

to reflect the effect of the reading.

23. Which of the following is not mentioned in the 
above passage? 
① The probable effect of fairy tales in Bloom’s 

personal life
② Bloom’s remembrance of her mother’s voice 

reading fairy tales
③ Andersen’s life which motivated the creation of 

fairy tales
④ Bloom’s playing tragic heroines on stage as 

well as in her real life 

24. Which of the following is most appropriate for 
the blank (A)?
① Although ② Unless
③ Therefore ④ Since

  In her memoir Leaving a Doll's House, the actress 
Claire Bloom reminisces about the “sound of Mother's 
voice as she read to me from Hans Christian 
Andersen's The Little Mermaid and The Snow Queen.” 
(A)          the experience of reading produced “a 
pleasurable sense of warmth and comfort and safety,” 
Bloom also emphasizes that “these emotionally 
wrenching tales ... instilled in me a longing to be 
overwhelmed by romantic passion and led me in my 
teens and early twenties to attempt to emulate these 
self-sacrificing heroines.” That Bloom played the 
tragic, self-effacing heroine not only on stage but in 
real life becomes clear from the painful account of 
her many failed romances and marriages. The 
stories, to be sure, may merely have reinforced what 
was already part of Bloom's character and 
disposition, but it is troubling to read her real-life 
history in light of her strong identification with 
figures like Andersen's Little Mermaid. Bloom's 
recollection of childhood reading reminds us that 
reading may yield warmth and pleasure, but that 
there can be real consequences to reading without 
reflecting on the effect of what is on the page.
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 (25-27)

25. According to the above passage, Achilles could 
never catch up the tortoise because
① there was no reason why Achilles had to 

catch up the tortoise.
② Achilles was sometimes much slower than the 

tortoise. 
③ there will be always some gap between 

Achilles and the tortoise.
④ the tortoise can move much faster than 

Achilles in some races.
 

26. Which of the following is least likely to be 
inferred from the above passage? 
① According to Zeno, Achilles could never catch 

up the tortoise as far as the tortoise was given 
a head start.   

② In Zeno’s view, in this race, Achilles should 
get to the places occupied by the tortoise 
again and again. 

③ Zeno showed that an apparently logical 
reasoning can be led to a counterintuitive 
conclusion.

④ For Zeno, it was important to know why the 
tortoise had to race with Achilles, and why it 
should win. 

 

 27. Which of the following is most appropriate for the 
blank (A)?
① Also ② So
③ While ④ But

(28-30)

  The history of books and of the attempts to keep 
them under control will not yield conclusions that 
can be directly applied to policies governing digital 
communication. It is important for other reasons. By 
taking us inside the operations of censors, it shows 
how policy-makers thought, how the state took the 
measure of threats to its monopoly of power, and 
how it tried to cope with those threats. The power of 
print could be as threatening as cyberwarfare. How 
did agents of the state understand it, and how did 
their thoughts determine actions? No historian can 
get inside the heads of the dead — or, for that 
matter, the living, even if they can be interviewed for 
studies of contemporary history. But with sufficient 
documentation, we can detect patterns of thought 
and action. Only rarely are the archives adequate, 
because censoring took place in secret, and the 
secrets usually remained hidden or were destroyed. 
Given a rich enough run of evidence, however, one 
can tease out the underlying assumptions and the 
undercover activities of the officials charged with the 
policing of print. Then the archives open up leads. 
One can follow censors as they examined texts, often 
line by line, and one can trail the police as they 
tracked down forbidden books, enforcing boundaries 
between the legal and the illegal. The boundaries 
themselves need to be mapped, because (A) they were 
frequently uncertain and always changing. Where can 
one draw the line between an account of Krishna's 
flirting with the milkmaids and unacceptable eroticism 
in Bengali literature, or between socialist realism and 
“late-bourgeois” narration in the literature of 
Communist East Germany? The conceptual maps are 
interesting in themselves and important because they 
shaped actual behavior. The repression of books —
sanctions of all kinds that fall under the rubric of 
“post-publication censorship” — shows how the state 
confronted literature at street level, in incidents that 
carry the story into the lives of the daring or 
disreputable characters who operated beyond the 
fringe of the law.

  Zeno the Greek lived in Elea (a town in what is now 
southern Italy) in the fifth century BC. The paradox for 
which he is best known today concerns the great 
warrior Achilles and a previously unknown tortoise. For 
some reason now lost in the folds of time, a race was 
arranged between them. Since Achilles could run much 
faster than the tortoise, the tortoise was given a head 
start. Zeno’s astonishing contribution is a “proof” that 
Achilles could never catch up with the tortoise no 
matter how fast he ran and no matter how long the 
race went on.
  The supposed proof goes like this. The first thing 
Achilles has to do is to get to the place from which 
the tortoise started. The tortoise, although slow, is 
unflagging: while Achilles is occupied in making up his 
handicap, the tortoise advances a little bit further. So 
the next thing Achilles has to do is to get to the new 
place the tortoise occupies. While he is doing this, the 
tortoise will have gone on a little bit further still.     
However small the gap that remains, it will take 
Achilles some time to cross it, and in that time the 
tortoise will have created another gap. (A)     , 
however fast Achilles runs, all the tortoise has to do in 
order not to be beaten is keep going — to make some 
progress in the time it takes Achilles to close the 
previous gap between them.
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28. According to the above passage, studying the 
history of censorship is important because
① it can be directly used to make and 

reinforce policies on digital communication 
and information flow today. 

② it can help us to understand what policy- 
makers actually thought and how the state 
exerted its monopoly power.

③ it is possible to draw the conceptual maps 
of the relation between legal books and 
illegal books. 

④ it can be used when historians try to cope 
with the threats of illegal texts in the age of 
cyberwarfare. 

29. Which of the following does (A) they refer to? 
① The boundaries between the legal and the 

illegal
② The texts which were examined line by line
③ The undercover activities of the officials 
④ The patterns of thought and action in 

censorship

30. Which of the following is most likely to be 
inferred from the above passage?
① Sufficient documentation is never helpful 

for historians to reconstruct what was in 
censors’ mind.

② Censorship could easily differentiate the art 
expressing romance from unacceptable 
pornography. 

③ Before the internet was invented, the power 
of books could be as menacing as warfare 
in cyberspace.

④ The criteria to distinguish the illegal from 
the legal were consistent and very easy to 
pin down.


